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ned3 / MATHEMATICS

Four choices are given for each of the questions/incomplete statements. Choose
the correct answer and shade the correct choice in the OMR given to you with
blue / black ball point pen.

81 EENT TICAROW TJINVR / OTROE TCYINVR T, SOHATR), JEINT. SYREY
BOCIRT LVITH, &0 AR ALRTLF ITIYE 8.20.80°. (OMR) 89 TocsnT esoﬁ:&oﬁsoel
FXY, / DD RCT TpoWwotF JTTR0T 3w TRRO.

40x1=40

1. 3x+2Ky =2 3 2x + Sy +1=028rek Bnezceonss ITIT T=5e08070n38 K
o i3S

A 1 B. 3

C. 5 D. 45

If a pair of linear equations 3x + 2Ky = 2 and 2x + Sy + 1 = 0 are parallel to
each other, then the value of ‘K’

A 1 B. 3

C. 5 D. 45



MCQ MP
2. 2x-5y+4=0=3 2x+y-8=0 ek Zessonsd
A. QDTN QTB TOTOTID, BRODTITT.
B. ©Z0NE F050H D[OTINTIH, BROOTIT.
C. %O TOTITBZ, BROTTS.
D. ZT0me3at0mn)ig.

The pair of equations 2x-5y+4=0 and 2x+y-8=0 has
A. Exactly two solutions

B. Infinity many solutions

C. A unique solution

D. No solution

3. X2y’ nY S B3R 2x - 3y = 12 5000wy TORROWHIH.
A x=0,y=-3 B. x=2,y=3
C. x=3,y=-2 D. x=-2,y=+3

The values of ‘x’ and ‘y’ when a point lies on the linear equation 2x - 3y = 12
A. x=0,y=-3 B. x=2,y=3
C. x=3,y=-2 D. x=-2,y=+43
4. Ceseg® BneEoro ReeRR TowoE ToZ B2 FENT TeVINYY IITNTT TeeBoB,
TSR,
A, Belnsd IVPOITHONG T, B[OTIT ARVPHRY
B. Zesned ITFT ©0wmONTT, TOTOTIRPRY
C. Bednsd TTZT 2FRROTT WTOWE TOTIONYI), BRHODIT.
D. Jealnishd ©TZTT ¢3eHATT 60T TOTHITIET.

Identify the wrong statement with respect to a pair of linear equations
A. If lines are parallel there is no solution

B. If the lines are perpendular to each other, there is no solution

C. Many solutions if the lines coincide each other

D. A unique solution if they intersect

Maths, Science, Social K-E QP 2
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5. 3,-1,1,3..... 3 TRN20IT 3epen 108¢ I
A. 20 B. -21
C. -15 D. 15
The 10th term of the Arithemetic progression -3, -1, 1, 3 ....... is
A. 20 B. -21
C. -15 D. 15

6. 2.0 T[0T 3eRcH ‘N’ Ke IT a, =7 - 4n ST 3RCHOT WIRT, FFD
A. 4 B. -4
C. 3 D. -3
The n" term of an Arithmetic progression is given by a =7 - 4n then the common
difference is
A. 4 B. -4
C. 3 D. -3

7. 4,a,b, 28 T[T BZWOZT FeREDOTT ‘b’ o XS ¢
A. 20 B. 19
C. 23 D. 12

If 4, a, b, 28 are in Arithemetic progression then the value of ‘b’ is
A. 20 B. 19
C. 23 D. 12
8. QTR TZw03T RN TR, FTIDY BTNT. RATOR 3eROH IeTO ITH) 5
Y HTRIe FREP [BPTON TTY) 8 GNFT & 3RNY WRTINe TTNE FTIY)
A 2 B. 3

C. 4 D. 5

Two arithmetic progressions has the same common difference. If the first term
of the first progression is 3 and that of the other is 8, then the difference between
their 3rd term is

A 2 B. 3
C. 4 D. 5
Maths, Science, Social K-E QP 3
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9. 2.0% EFIPOIT FeRCH BRBO N’ IWNY =2eIT 2w S =3n’+ n ¢u3 @ FeR0H

33 IF
A. 14 B. 16
C. 22 D. 42

The sum of first ‘n’ terms of an arithemetic progression is given by the formula
S =3n’+ n, then its 3rd term is

A. 14 B. 16

C. 22 D. 42

10. 3x*-3(2x-4)=0 =RFZNCITTD, $TIF SHI ax*+bx+e=0 R owmen BRTHT

%mos@
A 3 B. 4
C. -12 D. 12

The constant term in the quadratic equation 3x2-3(2x-4)=0, after reducing it to
the standard form ax’+bx+c=0 is

A. 3 B. 4

C. -12 D. 12

11, (2x-3) (c+5)=0 SnB0eITLoT 20T FDRVY) —5° ST WTT D3RO WRVFY)
-3

A. 5 B.

c. 3 D. 2
2 3

One root of the quadratic equation (2x-3) (x+5)=0 is -5, then the other root is
-3

A. 5 B. 7

3 <
C.E D.3

Maths, Science, Social K-E QP 4



MCQ MP
12, x2-2x+1=0 TREERCITOT HHORY FP[D.

A, 2T BT IT RORT, BROOTIT.

B. 20@ QIR0 0An Tone penor) SonesEd, TRODIT.
C. T NI B, @B Tone @mﬁ@u@ DRONTTY, TRODIIT.
D.

O3RRYTIC AT BRONTT), TRODIPHDY.

The nature of the roots of the quadratic equation x?>-2x+1=0 are
A. real and equal

B. real, rational and distinct

C. real, irrational and distinct

D. complex

13. “a5w 3=osns zﬁsxoﬁéﬁ@ SNFRY RT 3947, 33 %e@éo&»m& ned3 BReFsed SRITY
W3en.

A, xX*+(x+1)’=394
B. x**+(x+2)*=394
C. (x+1)*+ (x+2)>=39%4

D. x+(x+2)*=394

The sum of the squares of two consecutive odd numbers is 394. The mathematical

equation for the above statement is
A. X H(x+1)>=39%4

B. x*+(xt2)*=394

C. (x+1)y+ (xt2)*=394

D. xt(x+2)>=394

Maths, Science, Social K-E QP 5
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14. 3np8x w¥3n9 /B=90°, AB=6cm, BC=8cm =2 AC=10cm wer Sin (90-0) ©
BS.

6 A

A. 7o 10cm
6cm

10

B. 6
B—I 0 C

C 10 8cm

8
D. %

10

In the given figure /B=90", AB=6cm, BC=8cm and AC=10cm then the value of

Sin(90-0) is A
6
2 10
A 10 6cm -
S
6
10 B—l gcm : C
C. =
8
D. &

10

15. 2Sin 20 =3 smen ‘0" & BS30sx.
A. 90°
B. 60°
C. 30°
D. 45°
If 2Sin 20 = 3 the value of ‘0’ is
A. 90°
B. 60°

C. 30°

D. 45°
Maths, Science, Social K-E QP 6



MCQ MP

16. ‘O’ $eomR¢ F3nQ AC oo F3 1373 ‘A’ Zgraom, OC=4em =33 LACO =30°
SN [T [T TR

A. f3cm
B. 4/3cm .
20y
C. 2cm AN
30° C
D. 3cm a

In a circle with centre ‘O’ AC is a tangent at ‘A’. If OC=4cm and ZACO=30"
then the radius of the circle is

A. cm
B. 4/3cm W
C,
C. 2cm 0 -
0
D. 3cm JAY 30 C

17. Sin 0=y 3 er Cos 0"

A i B.

x e
C. y2-x D. YY
If Sin 6 = % then Cos '0' is
A i B. ¥

x e
C. y2-x D. Yy

18. Sin A+ Sin? A=1 swon, Cos? A+ Cos* A o3 23¢3

B. 2
D. 1

o »
le_

If SinA+Sin? A=1 then the value of Cos*+Cos*A is

1
A. 5 B. 2
C. 3 D. 1

Maths, Science, Social K-E QP 7



19.

20.

21.

MCQ MP
A(4,-6) =3 B(a, b) womriv, Aeoms SeamDoRE SHEVODT "TRONoR' TES
‘@ = b’ AY ¥Snw

A. a=4<7>333b=6 B. a=-433 b=-6

C. a=-4=2 b=6 D. a=6=3 b=4

If origin is the mid point of the line joining of the points A(4-6) and B(a,b) the

values of ‘a’ and ‘b’ are equal to
A. a=4andb=6 B. a=-4andb=-6

C. a=-4andb=6 D. a=6 andb=4

A(x, y,) @3 B(x, y,) Domn¢ Smas GeoE, 0mbrckns Aeg

A. dZ\/(xz—x1)2+(y2_y1)2 B. d:\/(xl_yl)2+(x2_y2)2

C. d:\/(xl_y2)2+(x2_yl)2 D d:\/(xz_x])+(y2_yl)

The distance between the points A(x, y,) and B(x, y,) is given by the formula

A d=\x,-x)+(,-») B. d=\(x-3)+x-»)

C. d:\/(x1_y2)2+(x2_y1)2 D d:\/(xZ_x1)+(y2_y1)

A(1,2) O (0, 0) =3y C (a, b) Domonsy T3¢ Besson3monss
A. a=b B. b=2a

C. a=2b D. atb=0

If the points A(1,2) O(0,0) and C(a,b) are collinear then.
A. a=b B. b=2a

C. a=2b D. atb=0

Maths, Science, Social K-E QP 8
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22, 2auSR S3ohY ABGH weg
A 1303
B. 5&3%»3
C. 3303
D. 43%3
In the graph given the length AB is %fgg,“#yﬁ%m
i e M
A. 1 unit ;{?h%‘ B
B 5 units : JJW
C. 3 units :
D. 4 units %

23. R éscrazg&s?om TEs RN 65 @osrie?aiool, am%g AROPTY 50 eaosm?m&,
smmm@gczg 55 wosRER, Tone Red3E QRWOBTY 30 WOINTR, TROLTR. SN
ATOPNPY BTZ JWOTHE TTEXO WA ‘60’ W3 Nrd3m INNTY ORZ JRATLS
OBND -

A. 65 B. 60
C. 50 D. 70
A student scored 65 marks in I language, 50 marks in Science, 55 marks in Social

Science and some marks in Mathematics. If the average marks scored by him
in all the four subjects is 60, then the marks scored by him in Mathematics is

A. 65 B. 60
C. 50 D. 70

24. "3eoQeod TFICH” TR WYINONTHT TEIRENT TOWOTH).
A. 3 WFYOT = WIDOT + 2 FTIAO B. 2 30030 = wm@o% + 3 T8

C. 2 DGV,08

2 0BT + 3 TR0, D. wm@es = 3 ZooR0 - mméos.

The empherical relation between the three “central tendencies” is
A. 3median = mode + 2mean B. 2mean = mode + 3median
C. 2median = 2mode + 3mean D. Mode = 3mean - median

Maths, Science, Social K-E QP 9



25. 3 R 3eYTHT $F S LITMme JrIoHQ "WHOTILR" Jnero3TH)

26.

v prlaercte)

0-10

10-20

20-30

30-40

40-50

esag)g

5

8

12

15

20

A.

B. 20-30
C. 30-40

D. 0-10

10-20

In the given frequency distribution table the median class is :

Class Interval

0-10

10-20

20-30

30-40

40-50

Frequency

5

8

12

15

20

A.

D. 0-10

10-20
B. 20-30
C. 30-40

MCQ MP

AABC o9 AB _ BD wnzg 253 /B=70" more /C=50" woonr /BAD w93

300
40°
45°
500

c o w »

AC ~ CD

In the AABC, it is given that

30°
40°
45°
50°

A.

B
C.
D

Maths, Science, Social K-E QP

70°

A

50°

B

D C

AB _ BD 1t /B=70°, /C=50" then /BAD is :

AC  CD°

70°

A

50°

10



MCQ MP
27. dp4ow 8389 AABC ~ ADEF =3 ZABC=/DEF = 60’ stmit AC o 005w

E 3cm F
A. 24 cm B. 2.6cm
C. 39cm D. 3.2cm

In the given figure AABC ~ ADEF and ZABC=/DEF = 60° then the length of
AC:
A

'S
&
v‘

A. 24 cm

C. 39cm

28. AABCo9, DE || BC =08 AB:AD=5:3 338 AABC Q3eeds ¢ AADE Q30005
A. 3:5 B. 6:10
C. 9:25 D. 25:9

In the AABC, DE || BC. If AB : AD =5 : 3 then area of AABC : area of AADE

is
A. 3:5 B. 6:10
C. 9:25 D. 25:9

Maths, Science, Social K-E QP 11
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29. #eyios w3ng LABC=90°, BD L AC, AB = 6cm, BC = 8cm &2 CA = 10cm

sn AD o iR
A. 63cm

B. 3.6cm
C. 3cm
D.

4 cm

A
D
= 2
g X
B Scm C

In the given figure ZABC=90°, BD 1. AC. If AB=6cm, BC=8cm, CA=10cm then

the length of AD is :
A. 63 cm

B. 3.6cm
C. 3cm
D.

4 cm

A
D
= 2
g @
B Scm C

30. 33 390 30 IPHNT RTNY VLINTT, ABCNT. YRYNEY "OOWERES FDPEIYT’

VTR SPBRT WTAETY, HTHIR
A. 5cm, 12cm, 13cm
B. 8cm, 15cm, 17cm
C. 3cm, 8cm, 6¢cm
D.

7cm, 24cm, 25¢cm

The sides of some triangles are given below. Identify which does not form a

Right Triangle
A. 5Scm, 12cm, 13cm
B. 8cm, 15cm, 17cm

C. 3cm, 8cm, 6¢cm

D. 7cm, 24cm, 25cm

Maths, Science, Social K-E QP
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31. =BFIRR BowoRATWOB B2 R Towy, TeYINTR, VRN, AYNSY TN TewEcso

A.

B.
C.
D.

20T m% WOTINNOT 20T wﬁjé Rara“&mﬂ RTT gs;smfs%
RBONWTDO.

BT BT 2,00 WOTDIOT B ZF 20T LOTD FTFTVI, [T, DFODWIIT.
BET WENT WOWONT BWRVT [T, TR AJFINTTY, BIT, DTYODWTI.

DT, WO w@:ﬁ RET TTFINYG QOB RTINS,

Four statements are given below with respect to the tangents. The wrong
statement is:

A.

D.

There are exactly two tangents that can be drawn to a circle from a point lying
outside the circle.

There is only one tangent passing through a point lying on a circle.
Only two tangents can be drawn from a point lying inside a circle.

The lengths of the tangents drawn from an external point to a circle are equal.

32. 'O’ gcomaoem FZE PA w2 PB oow oow AIrInemy, ¥3ng Sec03thmod

NecheRnd. PA=Scm=3) ZAPB=60° <won AB 2RT OB
A.

B
C.
D

5J2cm

573 cm

5cm

5.2cm

In the given figure PA and PB are the tangents to a circle with centre ‘O’. If
PA=5c¢cm and ZAPB=60° then the length of the chord AB is :

B
C.
D

5J2cm
5J3 cm

5cm

5.2cm

Maths, Science, Social K-E QP 13
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34.

MCQ MP

2oTh FITY, O0H WY FWAT AR 130" InAY 903, VOB AT ST
33FINY IS &R

A. 65° B. 40°
C. 70° D. 50°

The angle between the two radius of a circle is 130°. Then the angle between
the tangents drawn at the ends of the radii is

A. 65° B. 40°
C. 70° D. 50°

22) QPFCR AB=5cm, BC=6.5¢m =3 AC=Tcm wb=03 AABC cbab, Se3mhzas.
0TS B et T3ckeomh s AADE o ©=08T mend g =03 AABCR
AHoe2cinE AADE ohh, Suxes. memmd AADESh wm@nwes AE @3
AD s, Smpmt RA0E JomERmR BRTHTE YRR BN

A Tcm m@g 9.8cm
3.4cm m@i 6.5cm

B

C. 6.5cm m@g 9.8cm
(@

D

Al
10cm &>2 11.5cm AT

Ad A3
A6
A

A sstudent construted a triangle ABC with sides AB=5cm, BC=6.5¢cm and AC=7cm
and then constructed a AADE similar to AABC such that each of its sides are

5
7 of the corresponding sides of AABC.The length of AD and AE obtained by
calculation are respectively equal to

A 7cm and 9.8cm
3.4cm and 6.5cm

B
C. 6.5cm and 9.8cm
D

10cm and 11.5cm

Maths, Science, Social K-E QP 14
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36.

37.

MCQ MP
‘O deonRY HY wem, WOt A 0T AB F3rEns, adobonnd. AO=25cm 3

AB=24cm <mn S8 S50 w05 B

A. 12cm Lem

B. 7cm 0] 25¢cm A
C. 1I5cm

D. 1l6cm

‘O’ is the centre of the circle. The length of the tangent AB=24cm and if

OA=25cm. the radius of the circle is B

A. 12cm Lem

B. 7cm o) >5em A
C. 15cm

D. lécm

200 AOCTTR TR &z T'em HTT “h'em STT AO0TOR [Ihed ;) Qe

A. 2nr(r+h)cm? B. #@rth cm?
2
h

C. ﬂg cm’ D. 2nrh cm?

The curved surface area of a cylinder of radius ‘r’ cm and height ‘h’ cm is

A. 2mnr(r+h)cm? B. nr*h cm?

xr'h
cm D. 2nrh cm?

C.

BORTPOTWT YR 2T L, 288 ‘W’ DTy T e T T8 /RYNG AT
TOWOTFR)

A. P=h*-r B. P=h*+r1?
C. h*=PF+1 D. [I=r -7

The relation between the slant height ¢/’ height ‘h’ and the radius of the cone

‘r’is
A. P=h*-r B. P=h*+1
C. h*=pP+r D. [=+vr -7

Maths, Science, Social K-E QP 15
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38. wo Reced hedd 3 QLT 616SqM SBT3 VTT WFPFRACTT 50eS . DRLEIFT):

A. 205.6 cm? B. 308 cm?
C. 1232 cm? D. 38 cm?

The surface area of a sphere is 616 sqm. The surface area of its hemisphere is
A. 205.6 cm? B. 308 cm?
C. 1232 cm? D. 38 cm?

39. wom 68 A00RT TBE WIFS 44em DI, $TS 93T 10em TS 20T P

54])
A. 490 Tt cm?® B. 440 tcm?®
C. 374 tcm? D. 980w cm?®

The perimeter of the base of a right circular cylinder is 44cm and its height is
10cm then its volume is

A. 490 ©t cm? B. 440 tcm?
C. 374 tcm? D. 980w cm?

40. B3eR mgaocs 20T 50%3st 3. %‘“511 mw% HH[300ZTTN RPN FZV YVORT
23 BoBTN, WeTFRATN V0BT LIRS FIP)

A. RD0BT* B. 3o®

C. Reew D. 30803 B3I

Prepare a cone from “model clay”. When wet, cut it with a knife parallel to its
base, remove the smaller cone obtained. The solid left is a

A. Cylinder B. Cone

C. Sphere D. Frustum of a cone

Maths, Science, Social K-E QP 16
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53&3@5 / SCIENCE

Four choices are given for each of the questions/incomplete statements. Choose
the correct answer and shade the correct choice in the OMR given to you with
blue / black ball point pen.

81 EONT TIAROW TJINVR / WTROF TYINVR T SOHRER), JTINT. YYREY
BOOIRT ¢VZTRT, 02 AR VeRTLT Lw8TTE bv.00.:50°. (OMR) 8@ BOcsen wedonm,
BT, / DD ST TPOWOEF BTTR0T JewE [TRRO.

40x1=40

41. ;Ddoﬁse HOBROTY &raez;ssooz WTRECRONITED NTOSRENDDT TS

A, sewT B. 0cdnmemves®

C. mOSneesc® D. Specranetsc®

A device used to change the resistance in an electric circuit is

A. ammeter B. rheostat

C. galvanometer D. voltmeter
42. PePON'R AW ACHIHTY HFT BT BAWHRHTH

A. w0IFeIT OB B. »®3ng £e08 AW Tmowd O

C. e Tozs OB D. oo3@3d @Bodod %)

In Fleming’s left hand rule middle finger indicates the direction of the
A. magnetic field B. electric current induced in conductor
C. electric current D. movement of the conductor

43. R ﬁécﬁécb —0.5D mmsgsm& RROTT BOITRDT mmwm& ) “ﬁﬁ mw%mao".
B3 SNDRTT TONTNTRRT 3B T
A. 2m BB am@mc B. +2m BB QETTART
C. +2m BB zswaolmms D. 2m WD) QETTWART
A doctor prescribes a corrective lens of power —0.5D to a person. The focal
length of lens and the type is

A. —2m and concave lens B. +2m and convex lens

C. +2m and concave lens D. —2m and convex lens

Maths, Science, Social K-E QP 17
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44. ST, 2e3HRATT Fes Fonm F) w3y @Fféeon ‘00 ¢ <, woamn
PO FIVOWR HRE 3y, ™S,

A, 0P, 36T 3T BRTID B. 33, 33 @) 8T

C. »Fg, ST ) BT D. g, 3d3dma 02 ST

The nature and the size of the image formed when the object is kept between
the principal focus ‘F ’ and optical centre ‘O’ of a convex lens is

A. virtual, erect and enlarged B. real, inverted and small size

C. virtual, inverted and small size D. real, inverted and enlarged

45, .0 ;mosse%ocuc@, :353:539 RVOT 4A ;m;ss@ BS030TNn BT ANE IS
NPT003TR) 60V =533, BTO ;35:539 LTS BTHVCH TRy

A. 15Q B. 240Q

C. 24Q D. 64Q

The potential difference between the terminals of electric heater is 60V, when
it draws a current of 4A from the source. The resistance of electric heater coil
is

A. 15Q B. 240Q

C. 24Q D. 64Q

46. RRCLOD THDRTIT wdégﬁdd 203508e3303 mﬁx

A. TF 3oy B. =30 3cogm

—

C. ozEso® D.

&

g

The diameter of the circular outline of a spherical lens is
A. optical centre B. centre of curvature

C. operture D. principal axis

Maths, Science, Social K-E QP 18
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47. FTBITT weed R IF) R, WYRTHTYT DECTT, 9T

A, B9, BSFIBL B. @) «0FID, Le08egD

C. B, LROVJYTZ, IEMEILD D. &85 $0ene, $eo0Ls0RLD
The inner wall of the solar cooker is painted black because this

A. reflects light B. absorbs more heat

C. prevents from rusting D. converges solar radiations

48. /I ERTT TODE
A AT THBT 03, HINDRRVHI
B. Q@@ I30Ha), 03w0dE 33oDTN TOBSF AT
C. 20T FoTOTY AWFT TITT YT S0NT) FOTW LRI
D. o3®083 330D, IWF° IFODTVN TOBSF AT
The function of electric generator is, it
A. reverses the direction of the current
B. converts electrical energy into mechanical energy
C. detects the presence of electric current in circuit
D

converts mechanical energy into electrical energy

49. Qo IS SREFR) WTOONTT QT T

A, DOTIT WG B. Sox3n @gsecd

C. B08ecd noeo D. IS 338,38 moee

The resistance of a conductor does NOT depend on

A. length of conductor B. area of cross section of conductor
C. magnetic nature D. nature of the material

50. Q.2 JmE wEER) TORFITELRT I
A, OTRF 030D TeTH B. I Tpownd 500800 TOTOT
C. O Tond WRPB® J0mem D, AW THoBT ToAmpodIT TOTO

D.C. generator works on the principle of
A. electromagnetic induction B. magnetic effect of electric current

C. heating effect of electric current D. chemical effect of electric current
Maths, Science, Social K-E QP 19



51. “mzsés@” 0T ¥ET SI NIZTTTNT

A QDT Tem

C. DWFT DPBT0BT

‘WATT’ is an SI unit of

A. electric current

C. celectric potentical difference

52. 8YDhs dneEE, TR

MCQ MP

émoémﬁes

D. ébdas@@ mmc;sés-'

electric charge

D. electric power

[ dwepdeod (Qm)
K 6.84x 108
L 1.62x 1078
M 520x 108
N 2.63x 1038

ARNYY I NI BE I

A. K
C. N
Observe the given table
Material Resistivity ((Qm)
K 6.84x 10°®
L 1.62x 10°®
M 520x 10°®
N 2.63x10°

Good conductor of electricity among these material is

A. K
C. N

Maths, Science, Social K-E QP

B. L

D. M
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MCQ MP
53. ¥DE AOT woTH T
A. T3 D TTS W, B. «00AmoR weodhd), wweRddn
C. o AR T8 00T D. o8 200 ©T3 3R

One of the properties of biogas
A. Its heating capacity is high B. Leaves residue like ash
C. It burns with smoke D. Its heating capacity is low
54. 20T ERTT Iy TRT Ty TSVOWE BRTA Fhwan —60 cm =08y —20 cm &3,
THBRTT TIPS
A. —033 B. +3.0
C. +0.33 D. +4.0

Object distance and image distance of a lens are —60 cm and —20 cm respectively,
then the magnification of lens will be

A. —0.33 B. +3.0
C. +0.33 D. +4.0
55. deemn RArSets® VRN, WRYNY 8 RN TOSIWE Jgedh
A, DDONRNE B. oIzxes
C. amé@szsasﬁ D. 2003

The process used to convert metal carbonate ores into their oxides is :
A. roasting B. reduction

C. electrolysis D. calcination

56. WRRET TBTWRLTWETNRY FOBRT MHOTY
A. CH,CH,CH, B. CH,CH,CH,

2y 276> 3

C. CH, CH,CH, D. CH,CH,CH,

2772 T2 2772 T3

The correct group of saturated hydrocarbon

A. CH, CH,CH, B. CH,CH,CH,

2y 276> T3

C. CH, CH,CH, D. CH,CH,CH,

2772 T2 2772 T3
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38.

59.

MCQ MP

‘X TOBNN JTRIEW 50335 11 3 Y’ o30S ITT5eew ﬁo&ﬂs 17 A8 omws,
B3 PONY W LVOIMT WORT P

A. %de@)ezsa@ 20 B. 3jncRledoeF 2007

C. @30T woy D. &nre&eod 2003

The atomic number of an element ‘X’ is 11 and the atomic number of ‘Y’ is 17.
Then the type of bond formed between these two elements

A. hydrogen bond B. covalent bond

C. 1onic bond D. metallic bond

2.0% weREees pH &P, 3Rdhoinwmod

A. OH eodmane 30sd Swprvss

B. H woimzbry 50s3 Swprogds

C. H eoimmng 308 30mosmm3gs

D. OH =@ H ©cimsne 30a33smmentoss

As the pH value of a solution decreases
A. number of OH ions increases

B. number of H ions increases

C. number of H ions decreases

D. equal number of OH and H' ions

HHO

H_(lj_(|j_|(|j—OH 3 WD TOCINITBOTLE FCIPMOFH) !

HH
A. es@éécse B. &snemoer
) s
C. 3&nes D. @m;i@%" S5

HHO

The functional group present in the carbon compound H-C-C—-C—-OH is
||

A. aldehyde B. alcohol H H

C. ketone D. carboxylic acid
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60. .00 PBOT TTTPLD B0, 20 ST, BT GTIFT LRFIRY Bt PBAT GTIT

509323
A. 4 B. 8
C. 2 D. 3

The atomic number of an element is 20. In the modern periodic table this element

belongs to the period
A. 4 B. 8
C. 2 D. 3

61. ﬁéé@; R e TUWROHYT DIWOFNY 30336
A 12 B. 18
C. 24 D. 6

The number of single bonds present in the structure of a cyclohexane molecule
A, 12 B. 18

C. 24 D. 6

62. $TRT $[ITE ERCTITY TP WO SINFT YR WNTOZ POBDNRE JT=5eER MOZH)
A, BRFVOIPMST B. 20oenxn)he

C. Swross D. BpTw Fwh F033 IRFOIRMH3IT

In modern periodic table as we move down a group. The atomic size of the

elements
A. decreases B. does not change
C. increases D. first increases and then decreases
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MCQ MP

81 3YNT TOTODIE CBNERY, NI

Fe + CuSO, — FeSO, + Cu

Zn + FeSO4 — ZnSO4 + Fe

8 00T IOHNLOTLT SReINY FO3RBCVBOL YPFOHT

A. Zn>Fe>Cu B. Fe>Cu>Z/n
C. Zn>Cu>Fe D. Cu>Fe>7/n

Observe the following chemical reactions

Fe + CuSO, — FeSO, + Cu

Zn +FeSO, — ZnSO, + Fe

The decreasing order of reactivity of metals in the above reactions is
A. Zn>Fe>Cu B. Fe>Cu>Zn

C. Zn>Cu>Fe D. Cu>Fe>7n

pEletel] 5%5669 SHNF) BT WRALNLROAR STSFATN WRNRBAIRME WAV
A. x%os @8 = B. wowry @dws @

C. Jupens D. ZR@pexs

The gas liberated when dilute sulphuric acid reacts with zinc granules
A. Sulphur dioxide B. Carbon dioxide

C. Nitrogen D. Hydrogen

NaOH + HCl — NaCl + H,0 3 Tomoods 303030 QBT ST TRoswne

A. 3t3FTe0 50O B. ©de33 305
C. Rozoz 308 D. @®s 305

NaOH + HCl — NaCl + H,O. This chemical reaction is an example of
A. neutralization reaction B. substitution reaction

C. addition reaction D. combustion reaction

Maths, Science, Social K-E QP
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68.
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BB WENTHRT
A. C,H, B. C H
C. C,H, D. C H

The molecular formula of benzene is

A. C,H, B. C,H,

C. C, H, D. C,H,

RRNLY 23e0R0T ASNAVR QeTH 30Ty VWY FTNTLT OTENT LeToNF 3y Foeen
BORR BTN ST TFed

A. @VRTW B. w0z

C. m®roFewm D. FIRAme0oeTe

The process that helps in the absorption of upward movement of water and
minerals dissolved in it from roots to the leaves in plants

A. Respiration B. Transpiration

C. Photosynthesis D. Translocation

SRTST BTTY ST BT TR TyRERCBNYOT %ﬁoﬁaé& WTHT BOIRT =ne
A.

&l
&L

TF DT OIND aw@a@aﬁg —>w©§@3§aF

&l
&L

[T OTVHOIND —wwae)ééeaF —>w©§@3%§h

&l
&L

B
C. TE ORTIVIND — IBHIY — DBXHFEF
D

&l
&

[T OPTPVINKD — @G&e)%?@? — @Cé&e)éag

The correct pathway of oxygenated blood coming from lungs to the heart in the
human body

A. Pulmonary arteries — Right ventricle — Right atrium

B. Pulmonary arteries — Right atrium — Right ventricle

C. Pulmonary veins — Left ventricle — Left atrium

D. Pulmonary veins — Left atrium — Left ventricle

Maths, Science, Social K-E QP 25



69.

70.

71.

72.

MCQ MP

SRS BeTTQ ToedecrBEess’, BReLien® sHB) EAWT I03TICH FEHCHTY, CPOGTE
TORRCERD

A, €00 B. «»&39%
C. C;%Uoiﬁs D. o0&

The hormone that regulates carbohydrate, protein and fat metabolism in the
human body is

A. Testosterone B. Adrenaline

C. Thyroxin D. Insulin

3 SINTYNEY BRODICRAT hred

A 2R397 — WO NOY B. €30a008 — IR0
C. aRNIT — Dedpeteds nok D. Qj@i&e —>c;3e3cm033; no®

The mismatched pair among the following
A. Adrenaline — Pituitary gland B. Testosterone — Testes
C. Insulin — Pancreas D. Thyroxin — Thyroid gland

aozés 303NY QDTS DB BexT 30N Tone *mmcossm TOTRRED FOTLTT RRNRS
@adse&s won

A. CSELV) B. mmm@ﬂ
C. %Qjmec;ﬁemma—f D. o0@Aa%

The part of human brain responsible for precision of voluntary actions and
maintaining the posture and balance of the body

A. pons B. cerebrum

C. hypothalamus D. cerebellum

e%oﬂs TOTBET HROT TTWH RRRVRLOCT I ALITNVR TTRE SRENFTT
A, FpeldncEnes B. @»3c00®
C. J3p= D. 3d¢og

A pathogen that causes gonorrhoea and syphilis transmitted through sexual
contact :

A. Protozoa B. Bacteria

C. Virus D. Fungus
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73. BRASY Sone ToTRAPY Tack HOMHTA BB TG ToIne:

A. TONRIIBE, DJewT, PR, e
B. Qex, 500, 58T, TIoONIBE
C. Lo, Vew, JoNIBE, 3BT
D

VOINIBE, JJeWS, e, LPRED

The correct sequence found in the process of sexual reproduction in flower is
A. pollination, fertilization, embryo, seed
B. seed, embryo, fertilization, pollination
C. embryo, seed, pollination, fertilization
D

pollination, fertilization, seed, embryo

74, DenR) SeTEBRTCITIN Weoan B3 @@%@pomrbd zz)‘swez:zs Pon
A, RexTY B. @oé\faea@“ﬁr
C. IT@D oo D. 2ex@ 3T

The part of the plant seed that grows and develops into root on germination
A. Cotyledon B. Endosperm
C. Radicle D. Seed Coat

75. whowmed T NeHITW, BeoHE wieed I, (RRyy) DHT TE0 0ewTw,
BROQTL WEzed 8RS 2R3 (rrYY) 1osseonesimen F| 2eonchg evotmmas esnsd

A, DOTIOD B[R B. 253 m90
C. DRI TAD D. 00EI0D =$H

If around green seeded pea plant (RRyy) is crossed with wrinkled yellow seeded
pea plant (rrYY). The seeds produced in F, generation are

A. Round and green B. Wrinkled and yellow
C. Wrinkled and green D. Round and yellow
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MCQ MP

ek 37, BAWIPOHY IER WHFIAYD, VTS FoIIR IRFOLBHRYDY LTI
RN

A, 90T0Le0H RN B. N9AT noensd
C. T mensd D. DbwFo noensd

The experiences of an individual during its life time cannot be passed on to its
progony, because they are

A. inherited traits B. acquired traits

C. dominant traits D. recessive traits

TOOIVEROTRD LONN

A. 2.0T¢ De30 TS B 2.0T3¢ DeI0D FOONFTI), BROV

B. 20T 0030 TS WY ART, 0e30D FORFNRTR), BRONSS
C. ORT, 0o TBINW ) 2.0T5e 0e30N TWORNFB/IY, TR0
D. Q93 0e30d 083 BB YT, 000D TORFRTTY, BHONSS

Analogous organs have

A. Same structure and same function

B. Same structure and different functions
C. Different structures and same function
D

Different structures and different functions

SPTVTTT WWTZ BOTY SPWRIY) LIRT BN CHTRRRRII APNE Jpn=RoT
A. 3-3TNW B. Jcdv08e3 Q3Tconsd
C. o300k NITOND D. de&odne 3Tonnsd

Ozone layer is formed from oxygen at the higher levels of the atmosphere by
the action of

A. X-rays B. Ultra violet - radiations

C. Infrared radiations D. Radiowaves
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20T FATRY, ¥TT TR emcgczﬁéé WETD mqﬁsmﬁdc Elate OTR, Bed csR)ae
LOTOINT md@czﬁ%& WSRTYTH

A, SDTHIECTTED B. o3w¢d

C. RDDHWEE D. mdaemcges

A product that can no more be used for the original purpose but use it for some
other useful purpose is

A. recycle B. reduce

C. reuse D. repurpose

ROORORT TREBTW AR

A, ZRIONT THBT HBIT (FRNTONT) TS e BTIWONTT), FHLROTT3
B. 20mo 3 Tmomnddd, BRI

C. xpIoNT ITTHIT 8¢ FARID, TR [IRWII

D

@dsaéméamol ézg:béd

-0

The watershed management

A. Increases production and income of watershed community
B. Increases droughts and floods

C. Decreases the biodiversity of downstream reservoirs

D

Increases deforestation
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v St &m@ﬁ / SOCIAL SCIENCE

Four choices are given for each of the questions/incomplete statements. Choose
the correct answer and shade the correct choice in the OMR given to you with
blue / black ball point pen.

81 39NS Jaodeowd TJJneR / wTer JevinonR Towy GOHNRTYR, ABWNT. WJYNTY
BOOIRT LOITH, &0 AR ALRTHLF ITIEE 8.20.80°. (OMR) 89 Bocs»T e.-soio&oﬁab&
FXY / DD WRCT TpoWwoF JTTR0T 3ewE TRRO.

40x 1=40
81. mmPAR @ wdewme O 0w e
A. Qe 00T &’ B. "moges’ @03 ‘ofmcgp’rie; Sons e
C. wBD s e D. T2 <3en m3Q’ Qed
Francisco de Almeida implemented
A. ‘Blue Water Policy’ B. War and Negotiation policy
C. Divide and Rule policy D. Doctrine of Lapse Policy

82. ‘Nerc%oSs? zqagow’d.@oaﬁ wossﬁfaozz oﬁoqp
A, Be00ke sorge daé:irada ofmcgp B. SIetode gorge 0008 ofmcgp
C. Renode sorige 187 0T, D. Sezode sm0res 0dg,

‘Salbai Agreement’ was signed to end the
A. First Anglo Mysore War B. First Anglo Maratha War
C. First Anglo Sikh War D. First Carnatic War

83. ‘TR0 BSOS’ N0WITH
A. Tonoes méojweoja B. 3somoo® méofmeofn
C. oTE T0IPOD D. m®s 590imocd

‘A Fouzadaari Aadalat’ is
A. Civil Court B. Revenue Court

C. Criminal Court D. Consumer Court
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84. mUFe worg-FHEAT CFT FHOHTY VYT NEFET’ WRSS® SNFRD
A By B. meraRy

C. 3300 D. Gaia@

The Governor General during the Fourth Anglo-Mysore War was
A. Wellesley B. Dalhousie
C. Cornwallis D. Rippon

85. ‘Fennon 2003T0N° V0T TS ACRT ToTIWT TTTITY
A. TOXD TORRBRCTI® To03T° B. DIAY RNTCFTOIOT
C. o003 MO D. ©odnzsos 56@8

The social reformer who declared ‘Back to Vedas’ was
A. Raja Rammohan Roy B. Swami Vivekananda

C. Narayana Guru D. Dayananda Sarswathi

86. TPJCH Terd O3, 2300 QXS adozg) TOR WP TTe
A. "FooDds AT azfgpé’ B. "moges’ @03 ‘ofmcg;rie; Tns e
C. wB® =907 ded D. T2 3en T3’ 2ed

Rani Lakshmi Bai of Jhansi revolted against British due to
A. Subsidiary Alliance B. War and Negotiation policy
C. Divide and Rule policy D. Doctrine of Lapse Policy

87. To%F NTRO FRET Y HERTF TIWDTTT 85 MHOJT FeoHITL
A. F08F00NDH B. &vommoonsd

C. 8exmmosnnsd D. euonmoonsd

Ras Bihari Gosh and Madam Cama are the leaders of
A. Revolutionaries B. Moderates

C. Radicals D. Extremists
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88. eTecom m%@oﬁ TORT S xom(pwsdo
A. mméé nooHes? B. .. msw
C. oonomzgc® 8o D. Recmoo 3R reades

The founder of Indian National Congress is
A. Mahatma Gandhiji B. A.O.Hume
C. Balagangadhar Tilak D. Gopala Krishna Gokhale

89. ‘wrEs z@a@’mq m@é’o%dﬁ&
A, RTOTTOS IB B. oo @og Kbeex
C. wo. 2. T @0236’6%69 D. o® nomgd o

‘Forward Block’ was founded by
A. Jawaharlal Nehru B. Subhash Chandra Bose
C. Dr. B R Ambedkar D. Bal Gangadhar Tilak

90. Coe VRTTT THOIF F: TPOPTY IAYVITE
A, RODTFToOD N BIVTOOT
B. A@d scdeena é)doagp TEBWS T0ETN
C. ©9ATT0 BRTIYODNY
D. o3 F3nscg

Lala Lajapath Roy was killed during

A. Jallianwala Bagh Massacre

B. the protest against Simon Commission
C. Non Cooperation Movement

D. the Salt Sathyagraha

91. "Ten® 33 T FOTO WETPOONT SORRLVTNE’ AW, JSPWHL GolecTTRNZ,
A, ©F FI0D SBTROZ B. 38 0oxnmmnis g3eesodd,
C. 3% WHRIT TRIBIONZ, D. moofodd), BoRONY WoRRITI),

‘Mahad tank and Kalaram temple movements’ were organised to protest against
the

A. practice of untouchability B. visit of Prince of Wells
C. proposal of Crips mission D. arrest of Gandhi at Dandi
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92. TONTRRT 423¢ STHIRCH HRVT TTTIONY BOTRT JTNH
A. TieoToK, wBY TIOTNI B. A@nzmod @03 w0 desd
C. TpTFERET, 30 TRITENY D. 3088 w3 wozndeds

(

&

(

The word added to preamble through 42nd amendment of the Constitution are
A. Republic and Democracy B. Socialist and Secular

C. Sovereignty and Democracy D. Regional and Secular

93. g WuES ATg ok 9T
A. HRe03Y B. $30039
C. B¢machy D. #33Resg

Chenamma revolted against the British from
A. Mysore B. Kittur
C. Belagavi D. Chittradurga

94. SRcFTOT Ty, SRTBNT soz’gpﬂ@mq m@&z)&x)c&:
A, TTeHT WTTBRCOT SO B. $mwes swodden
C. BpemNmom WO D. @i@sééow S23TBONT), WO

Lokapal and Lokayuktha are set up to check
A. Regional Imbalance B. Corruption

C. Communalism D. practice of untouchability

95. T8 BoDHTT 518e DPOH 1RV YT
A. o083 WD) BTYOD égsa BRI
B. 030030 Towmmode® 30%71%3 m@wé
C. 7ouPBF TJ/OD DI RIT TV
D. 083 méé)eoda RTLY, Tone YOST m@eo& TOTPRIN NPT JETTHT

The Constitution of India’s article 51 advocates
A. free and compulsory education

B. uniform panchayath institutions

C. social justice and welfare of people

D. establishing international peace and cooperation

Maths, Science, Social K-E QP 33



96.

97.

98.

99.

MCQ MP
196639 Tsw,, ToFOLF® W[OWE, BTIOAT)
A. R0 DI TITIT TW B. $c00om I TmIT SW
C. 2908 &) 8T8 IWOEI D. tpomded R dewosd IO

In 1966, USSR had supported the Tashkent Agreement between
A. India and Pakistan B. Sri Lanka and Pakistan
C. India and China D. Bangladesh and Sri Lanka

RIS aso&mf a:ﬁmcaﬁ%oﬁmel WONEIORTONT
A. &302T 10, 1948 SO B. &3o2TF 15, 1949 o
C. =3¢ 10, 1950 Tow D. JooesFEs 15, 1952 Sow

The Human Rights Declaration was adopted on
A. December 10, 1948 B. December 15, 1949
C. March 10, 1950 D. March 15, 1952

D3FoReh Tesm DoPes

A

A. IPT, 7 B. @& =ws

C. g3z ore® D. =Z&mo00d

The cabinet of UNO is

A. General Assembly B. Trusteeship Council
C. Security Council D. Secretariat

‘RTSCOH BONTOTT msgs SRl
A, .Y 8T ©oderT B. 0.2 oogdeors BFRoT®

C. Zoomdeone” I D. =d@eE Mmook

‘The Chief Architect of the Indian Constitution’ is
A. Dr. B R Ambedkar B. Dr. Babu Rajendra Prasad
C. Jawaharlal Nehru D. Mahatma Gandhi
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100.2 OTJYRF” QoW wagsss:& WIT=T
A. ORI B. §e@3rae

C. wors ms:; D. ejﬁx:; %?ﬁ%

The book ‘The Republic’ was written by
A. Aristotle B. Plato
C. Karl Marx D. August Comte

101. 3505833 oz, 8é3 zoa;*wmd m@mmm
A. cbgag B. mw@omg
C. x0.&%. mmocs@m D. 27.8. 3o33es®

Karnataka State Ryota Sangha was founded by
A. Rudrappa B. Basavalingappa
C. M.D.Nanjundaswamy D. N.D. Sundaresh

102.me>ZS NTOT AR %?03%033534 ONCIOBRT IR
A. 2006 B. 2007
C. 2008 D. 2009

Child Marriage Prohibition Act was passed in the year
A. 2006 B. 2007
C. 2008 D. 2009

103. Zp=e TR @3503 NTTT &80T
A. @%{eé & B. o@inoz
C. n0dad3T D. Qeond

The highest peak in the Eastern Ghats is
A. Anamudi B. Arma konda
C. Guru Shikhar D. Nilgiris
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104. RNFOTE WPOH DT FITITINTLHTH

A. (PTUE3Y ©I08 TR Y TEOINRTG,

MCQ MP

B. (0339 9308 TPT WEYoT BRHOLIPTY,

C. %o03ng w03 TR YVTYO mo@m@w§

D. 0339 9308 ) 0¥ TWONRTE,

Drass near Kargil is prominent for

A. Lowest recorded rainfall in India

Highest recorded temperature in India

B
C. Lowest recorded temperature in India
D

Highest recorded rainfall in India

105. 85, e YUIICIPNTIRH T
A. B3 BSRLOT

C. mywraos

The black soil is derived from
A. Crystalline rocks

C. Qranite

106.2%9en aﬁezjam*s:eZ ROV VNG T
A. @3@6%@? FOTONED

C. TIFeS mrnD

Stilt like roots are found in
A. Equatorial forest

C. Mountain forest

Maths, Science, Social K-E QP

W, Eloratlein]

393 IR0

Basalt rocks

Coal

ema‘%ﬁ@ofocj R VTVNT TOTIND

BROMRED" FITND

Tropical deciduous forest

Mangrove forest
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107. 23neQ Tesmeed THRRNDH TYTIRT00TN TOCHT SN
A. D0 DD 37 B. som @@ Hm
C. IFm I 2o D. %330 &) moweT®

The west flowing rivers of peninsular plateaus of India are
A. Mahanadi and Krishna B. Tunga and Bhadra
C. Narmada and Tapi D. Kaveri and palar

108. 3 emock 3 3T WBemodd QHN AW
A, oe8%, KBemodTY B. =moog demoodng
C. 2000 BemooRnng D. 2exZ0q0038 Bemoodng

Shifting farming and sedentary farming are the two types of
A. Commercial farming B. Intensive farming

C. Irrigation farming D. Subsistence farming

109. 523833 éwgﬂoo
A. TS B. &3

W
C. 5@&%@3 D. asaaoaﬁe3
The gateway of India is
A. Delhi B. Chennai
C. Kolkata D. Mumbai

110. 33 Sz%se 2y em@s TLRTRINGY 5o%N mdwasd%
A T em@s TN B. 2$»3%3w0 em@s TS

C. 2000w em-f%s FOOOES D. Zeoo emz%s FOOOES

The iron and steel industries under private sector among these is
A. Ispat steel plant B. Bokaro steel plant
C. Bhilai Steel plant D. The Salem steel plant
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111. 93nvQ) sBERIIRR, SBMHT 10T DFF

A. [0NYR OFORN BTLNTI, TR
B. 2eOn¢¥Q IOYS Nedmoododdm), SWOI
C. Bn% BRT wmsy 03 OFmFONT Y ITIF NI, SEOVRYT

D. <200 ©FS 3RRNTR, D0FARYT

One of the measures for preventing coastal erosion is
A. construction of dams across the rivers

B. restrict sand mining in coastal areas

C. avoid the construction of large dams and reservoirs

D. Construction of high rise buildings

112. ozenge e.-aséos TS 1By :NeR WIHNITHLR %gﬁg@
A. 30023 3T303T B. Xvongndy xzm30300

C. Zonsndd 3BT D. &)Fed Fmwued

The oldest and still existing newspaper of India is
A. Bombay samachar B. Mangaluru samachar

C. Bengaluru samachar D. Mysore samachar

113. 3comnRe3 TReBTITHH T WOTT
A. %fae%ag B. Q308036380

e

C. BneT D. Kpeerr geor

The port situated in the union territories of India among these
A. Kolkata B. Visakhapatnam

C. Ennore D. Port Blair
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114. m%@oﬂ: esmoﬂasabez 283 zsasoa%o:bocs FONATRNR T SRTRe

A. 2083 m%eoja (Sloplon) B. o0 oo
C. BeRz30Y, D. 208 &=

When national income is divided by total population we get
A. Gross national income B. Per capita income

C. Standard of living D. Life expectancy

115. 3cn Breksons), 30n 30m ¢vries
Sdad@éeﬂﬁ@?ﬁ emd.raém WTNADT) TR
THELETON I WBNROTYT

TR PR QYTHON L3RV, WBNERYT
eﬁsgd;\—’é@ﬁ TSNTIY, m@&:’o@m

S o w »

Ashraya Yojana was implemented to provide
A. Employment for unemployed people
B. Shelter for the shelterless people
C. Agricultural Land for landless people
D. Schools for illiterates
116. deémcﬁéos Wode 3TTOT JToRONS®T TosE xozgpmfmez 0R 30T ToNGONT
3HIR
A. 1993 © 73 3¢ 863%5@
B. 1963 T 63 ¢ éd%w@
C. 1953 T 53 e @Cﬁ%ﬁ@
D. 1973 © 43 Je @cs%m
A uniform system of panchayati Raj institutions throughout the country was
established by
A. 73rd constitutional amendment act in 1993
B. 63rd constitutional amendment act in 1963
C. 53rd constitutional amendment at in 1953
D. 43rd constitutional amendment act in 1973
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117. 23,05 5308300 20T DRTY AT, ROCIRTWAR TEOT, W [ DI &oTEORON

9TTT BRODTT 593

A. VPZO0N 093 B.
C. 333 3Bemed 03 D.

zsaez 3303

2’\3%33 338 03

The account holder can withdraw/ deposit, any number of times in a day in this

type of account

A. Savings bank account B.

C. Recurring deposit account D.

118. So4e0d ewozRen IR, AP

A. @028 330 B.
C. o080 0xFF apiel D.

Current account

Term deposit account

gRT3e0D AeeF piei
%R Q.-D&Dw@@ LR0T°
o

The National savings certificate are issued by

A. Post offices B.
C. Reserve Bank of India D.

119. 93 mEs mECHohD, BINTE SWODHIHD

A. 153¢ [ O B.
C. 143¢ IZ[0WT® o D.

World consumers day is celebrated on

A. 15th March every year B.
C. 14th November every year D.

120. moz3 S3r 3008 (eT3TY 0R Wow IR

A. 1962 B.
C. 1986 D.

State Bank of India

Land development banks

143¢ FwT|O Towd
158¢ iy, gomd

14th February every year
15th August every year

1972
1996

The consumer protection act came into force in India in the year

A. 1962 B.
C. 1986 D.
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